
日にち：　　月　　日

名まえ

・ 計算をしましょう。

① 8 ＋ 1 2 × 5

＝

② 2 0 0

＝ 8 ＋ 6 0

5

＝ 2 0 0 － 6

− 1 5 0 ÷ 2

＝

③ 3 0 0 − 5 × 8

＝ 3 0 0 －

＝

2

１

① 例題

(うすい字はなぞりましょう。)

❶

❷

❶

❷

❶

❶

❷

❷

❶

❷
❶

❷

＜筆算スペース＞



日にち：　　月　　日

名まえ

・ 計算をしましょう。

① 7 ＋ 1 5 ÷ 5

＝

② 9 0 0

＝ 7 ＋ 3

＝ 9 0 0 －

− 2 5 0 × 2

＝

③ 1 0 0 + 4 × 6

＝ ＋

＝

1

② 確認

2

(うすい字はなぞりましょう。)

❶

❷

❶

❷

❶

❶

❷

❷

❶

❷
❶

❷

＜筆算スペース＞



日にち：　　月　　日

名まえ

・ 計算をしましょう。

① 9 9 － 1 2 8×

② 8 2 − 0

＝ 9 9 －

÷ 9 0

＝

＝

4 5

＝ －

③ 1 1 5 + × 3

＝ ＋

1

＝

8

③ 確認

3

(うすい字はなぞりましょう。)

❶

❷

❶

❷

❶

❶

❷

❷

❶

❷
❶

❷

＜筆算スペース＞



日にち：　　月　　日

名まえ

・ 計算をしましょう。

① 1 2 7 － 1 × 39

② 5 1 − 8

＝ －

÷ 7 6

＝

＝

6 0

＝ −

③ 3 0 3 + × 3

＝

6

＝

9

④ 確認

4

(うすい字はなぞりましょう。)

❶

❷

❶

❷

❶

❶

❷

❷

❶

❷
❶

❷

＜筆算スペース＞



日にち：　　月　　日

名まえ

・ 計算をしましょう。

① 4 0 ＋ 2 8 ÷ 4

＝ 4 0 ＋ 7

② 1 7 6 －

＝

1 6 × 3

＝ 1 7 6 － 4 8

③ 7 0 ＋ 5

＝

＝ 7 0 ＋

＝

0 ÷ 2

④ 3 0 0 － 2 5 × 8

５

⑤ 定着

(うすい字はなぞりましょう。)

＜筆算スペース＞



日にち：　　月　　日

名まえ

・ 計算をしましょう。

51 27
① 5 1 ＋ 2 ÷ 3

＝ 5 1 ＋ 9 9

7

＝ 60

243 14
② 2 4 3 － 1 4 × 6

＝ 2 4 3 － 84

159

③ 9 2 ＋ 1 0 ÷ 3
92 150 30

＝

0

5

5

97

430 30
④ 4 3 0 － 3 0 × 4

120

310

⑥ 定着

6

(うすい字はなぞりましょう。)

＜筆算スペース＞



① 3 5 ＋ 2 8

日にち：　　月　　日

名まえ

・ 計算をしましょう。

35 28

＝ 42

÷ 4

＝ 3 5 ＋ 7

462 21
② 4 6 2 － 2 1

399

89 66

× 3

63

③ 8 9 ＋ 6 6 ÷ 6

11

④ 5 2 6 － 2

100

526 29

145

381

9 × 5

⑦ 定着

7

(うすい字はなぞりましょう。)

＜筆算スペース＞



日にち：　　月　　日

名まえ

・ 計算をしましょう。

35 48
① 3 5 ＋ 4 ÷ 68

528 21
② 5 2 8 － 2 1 × 4

③ 2 5 ＋ 2 0 ÷ 5
25 250 50

05

645 55
④ 6 4 5 － 5 5 × 5

275

⑧ 定着

8

＜筆算スペース＞



① 8 9 ＋ 2 4

日にち：　　月　　日

名まえ

・ 計算をしましょう。

89 24
÷ 6

364 33
② 3 6 4 － 3 3

59 96

× 2

③ 5 9 ＋ 9 6 ÷ 8

678 35
④ 6 7 8 － 3 5 × 8

⑨ 定着

9

＜筆算スペース＞



日にち：　　月　　日

名まえ

・ 計算をしましょう。

① 9 0 － 5 6 ÷ 4

② 2 3 4 ÷ 2 8 － 1 9

③ 2 6 0 － 0 ÷ 56

④ 1 3 ＋ 3 5 × 7

10

⑩ 仕上げ

＜筆算スペース＞

( )



① 5 7 ＋ 1 5

日にち：　　月　　日

名まえ

・ 計算をしましょう。

3 ÷ 7

150 21
② 1 5 0 － 2 1

96 225 25

× 3

③ 9 6 ＋ 2 2 5 ÷ 2 5

603 51
④ 6 0 3 － 5 1 × 6

⑪ 仕上げ

11

＜筆算スペース＞

( )



日にち：　　月　　日

名まえ

・ 計算をしましょう。

① 8 9 ＋ 5 ÷ 64

② 9 9 － 4 1 1 － 3 3 6

55 75
③ 5 5 ＋ 7 5 ÷ 5

831 41
④ 8 3 1 － 1 × 64

246

⑫ 仕上げ

12

＜筆算スペース＞

( )



① 1 4 ＋ 1 6

日にち：　　月　　日

名まえ

・ 計算をしましょう。

14 16
÷ 2

264 24
② 2 6 4 － 2 4 × 4

③ 2 5 × 7 2
25 0 0

－ 3 2

737 32
④ 7 3 7 － 3 2 × 9

⑬ 仕上げ

13

＜筆算スペース＞

( )



① 3 7 ＋ 4 9

日にち：　　月　　日

名まえ

・ 計算をしましょう。

37 49
÷ 7

239 19
② 2 3 9 － 1 9

88 78

× 3

③ 8 8 ＋ 7 8 ÷ 6

2 3 － 2 4 3④ 2 5 0 － 4

⑭ 仕上げ

14

＜筆算スペース＞

( )



名まえ

・ 計算をしましょう。

① 9 2 ＋ 8 × 1 5

② 1 0 0 0 0－ 7 0 ＋ 6 4

③ 2 0 0 － 51 5 0 ÷ 7

6④ 1 5 ＋ 1 × 5

15

⑮ 力だめし

＜筆算スペース＞

(各25点)

目指せ100点！

( )



名まえ

・ 計算をしましょう。

① 5 0 × 7 ＋ 8

165 45
② 1 6 5 － 4 5 × 2

③ 3 5 ＋ 2 0 ÷ 3 0
35 210 30

1

402 29
④ 4 0 2 － 2 9 × 7

⑯ 力だめし

16

＜筆算スペース＞

( )

(各25点)

目指せ100点！



＝ 1 0 0

2＝ 3 0

× 8

0

0 0 －

0 0 －

2 5

日にち：　　月　　日

名まえ

・ 計算をしましょう。

①

6 0＝ 8 ＋

1 2 × 5

＝ 1 9 4

2 5

6

＝ 6 8

＝ 2

8 ＋

1 5 0 ÷

③ 3 0 0 −

② 2 0 0 −

１

① 例題 答え

(うすい字はなぞりましょう。)

❶

❷

❶

❷

❶

❶

❷

❷

❶

❷
❶

❷

＜筆算スペース＞



日にち：　　月　　日

名まえ

・ 計算をしましょう。

① 7 ＋ 1 5 ÷ 5

＝ 1 0

② 9 0 0

＝ 7 ＋ 3

＝ 9 0 0 － 5 0 0

− 2 5 0 × 2

＝ 4 0 0

③ 1 0 0 + 4 × 6

＝ 1 0 0 ＋ 8 4

＝ 1 8 4

1

② 確認 答え

2

(うすい字はなぞりましょう。)

❶

❷

❶

❷

❶

❶

❷

❷

❶

❷
❶

❷

＜筆算スペース＞



・ 計算をしましょう。

① 9 － 1 2 ×

＝ 9 － 9

日にち：　　月　　日

名まえ

9

9 6

8

＝ 3

② 8 2 0

＝ 8 2 － 5

− 4 5 0 ÷ 9

＝ 7 7

③ 1 1 5 3

＝ 1 1 5 ＋ 5

+

4

8 ×

＝ 1 6 9

1

③ 確認 答え

3

(うすい字はなぞりましょう。)

❶

❷

❶

❷

❶

❶

❷

❷

❶

❷
❶

❷

＜筆算スペース＞



日にち：　　月　　日

名まえ

・ 計算をしましょう。

① 1 2 － 1 9 37 ×

7

7 6

＝ 7

6 0

7

0

8 ÷

＝ 1 2 － 5

② 5 1 −

＝ 4 3

＝ 5 1 − 8

③ 3 0 3 +

＝ 5 1 0

3

＝ 3 0 3 + 2 0

6 9 ×

7

④ 確認 答え

4

(うすい字はなぞりましょう。)

❶

❷

❶

❷

❶

❶

❷

❷

❶

❷
❶

❷

＜筆算スペース＞



＝ 9 5

＝ 1 0 0

0＝ 3 0 0 － 2

5 × 8

0

－④ 3 0 0 2

2 5＝ 7 0 ＋

＝ 1 2 8

0 ÷ 2③

－②

7 0 ＋ 5

3

＝ 1 7 － 4

×

8

1 7 1 66

6

7

2 8 ÷

＝ 4 7

＝ 4 0 ＋

日にち：　　月　　日

名まえ

・ 計算をしましょう。

① 4 0 ＋ 4

５

⑤ 定着 答え

(うすい字はなぞりましょう。)

＜筆算スペース＞



日にち：　　月　　日

名まえ

・ 計算をしましょう。

① 5 1 ＋ 2 7 ÷ 3
2751

＋

＝ 6 0

＝ 5 1

② 2 4 3 －

③ 9 2 ＋ 1

9 7

5 ÷ 3

9 2 ＋ 5

④ 4 3 0 －

＝ 3 1 0

＝ 4 3 0 － 1

0 × 43

＝

4

＝ 1

92

243

430

84

5

150

5 9

1 4 × 6

＝ 2 4 3

＝

120

159

310

97

99

60

0
30

0

30

－ 8

14

2 0

⑥ 定着 答え

6

(うすい字はなぞりましょう。)

＜筆算スペース＞



① 3 5 ＋ 2 8

日にち：　　月　　日

名まえ

・ 計算をしましょう。

35 28

＝ 4 2 42

÷ 4

＝ 3 5 ＋ 7 7

462 21
② 4 6 2 － 2 1 × 3

＝ 4 6 2 － 6 3 63

③ 8 9 ＋ 6

＝ 3 9 9 399

89 66

1

＝ 0 0 1001

6 ÷ 6

＝ 8 9 ＋ 1 11

526 29
④ 5 2 6 － 2 9

145

＝ 3 8 1 381

× 5

＝ 5 2 6 － 1 4 5

⑦ 定着 答え

7

(うすい字はなぞりましょう。)

＜筆算スペース＞



日にち：　　月　　日

名まえ

・ 計算をしましょう。

35 48
① 3 5 ＋ 4 ÷ 6

＝ 3 5 ＋ 8 8

8

＝ 4 3 43

528 21
② 5 2 8 － 2 1 × 4

＝ 5 2 8 － 8 4 84

4 444

③ 2 5 ＋ 2 0 ÷ 5
25 250 50

＝ 4 4

0

＝ 2 5 ＋ 5 5

5

＝ 3 0 30

645 55
④ 6 4 5 － 5 5 × 5

＝ 6 4 5 － 2 7 5 275

＝ 3 7 0 370

⑧ 定着 答え

8

＜筆算スペース＞



① 8 9 ＋ 2 4

日にち：　　月　　日

名まえ

・ 計算をしましょう。

89 24

＝ 9 3 93

÷ 6

＝ 8 9 ＋ 4 4

364 33
② 3 6 4 － 3 3

＝ 2 9 8 298

59 96

× 2

＝ 3 6 4 － 6 6 66

③ 5 9 ＋ 9 6 ÷ 8

＝ 5 9 ＋ 1 2 12

④ 6 7 8 － 3

＝ 7 1 71

678 35

0 280

＝ 3 9 8 398

5 × 8

＝ 6 7 8 － 2 8

⑨ 定着 答え

9

＜筆算スペース＞



8

4

× 7

5＝ 1 3 ＋ 2

＝ 2 5 8

＝ 2 4

6

④ 1 3 ＋ 3 5

＝ 2 6 0 －

6③ －2

－ 1

0 ÷ 5

＝ 2 6

÷

0

＝ 2 3 4 ÷

＝ 7 6

② 2 3 4

＝ 9 0 －

・ 計算をしましょう。

① 9 0 － 6 ÷ 45

2

2

日にち：　　月　　日

名まえ

9

8

1

9

1 4

10

⑩ 仕上げ 答え

＜筆算スペース＞

( )



① 5 7 ＋ 1 5

日にち：　　月　　日

名まえ

・ 計算をしましょう。

＝ 3 0

7

3

＝ 2 1 0 ÷

÷ 7

150 21
② 1 5 0 － 2 1 × 3

＝ 1 5 0 － 6 3 63

③ 9 6 ＋ 2 2

＝ 8 7 87

96 225 25

＝ 0 5 1051

5 ÷ 2 5

＝ 9 6 ＋ 9 9

603 51
④ 6 0 3 － 5 1

306

＝ 2 9 7 297

× 6

＝ 6 0 3 － 3 0 6

⑪ 仕上げ 答え

11

＜筆算スペース＞

( )



日にち：　　月　　日

名まえ

・ 計算をしましょう。

89 54
① 8 9 ＋ 5 ÷ 6

＝ 8 9 ＋ 9 9

4

＝ 9 8 98

5

② 9 9 － 4

＝ 9 9 － 7

1 1

＝ 2 4

55 75
③ 5 5 ＋ 7 5 ÷ 5

831 41

＝ 5 5 ＋ 1 5 15

＝ 7 0 70

④ 8 3 1 － 1 × 6

＝ 8 3 1 － 2 4

4

＝ 5 8 5 585

－ 3 3 6

6 246

⑫ 仕上げ 答え

12

＜筆算スペース＞

( )



① 1 4 ＋ 1 6

日にち：　　月　　日

名まえ

・ 計算をしましょう。

14 16

＝ 2 2 22

÷ 2

＝ 1 4 ＋ 8 8

264 24
② 2 6 4 － 2 4 × 4

＝ 2 6 4 － 9 6 96

③ 2 5 × 7 2

＝ 1 6 8 168

25 0 0
－ 3 2

④ 7 3 7 － 3 2

＝ 1 0

＝ 2 5 × 4 0

0 0

288

＝ 4 4 9 449

× 9

＝ 7 3 7 － 2 8 8

737 32

⑬ 仕上げ 答え

13

＜筆算スペース＞

( )



① 3 7 ＋ 4 9

日にち：　　月　　日

名まえ

・ 計算をしましょう。

37 49

＝ 4 4 44

÷ 7

＝ 3 7 ＋ 7 7

239 19
② 2 3 9 － 1 9

＝ 1 8 2 182

88 78

× 3

＝ 2 3 9 － 5 7 57

③ 8 8 ＋ 7 8 ÷ 6

＝ 8 8 ＋ 1 3 13

④ 2 5 0 － 4

＝ 0 1 1011

2 3 － 2 4 3

0

＝ 7 0

＝ 2 5 0 － 1 8

⑭ 仕上げ 答え

14

＜筆算スペース＞

( )



名まえ

・ 計算をしましょう。

① 9 2 ＋ 8 × 1 5

2

＝ 2 1 2

＝ 9 2 ＋ 1

② 1 0 0 0

0 －

7 0 ＋－

＝ 2 9 0

＝ 1 0 0

③ 2 0 0 － 5 0 ÷ 7

＝ 2 0 0 －

1

④ 1 5 ＋ 1

＝ 1 5 ＋ 8 0

6 × 5

5

＝ 9 5

2

＝ 1 9 8

0

7 1 0

0

6 4

15

⑮ 力だめし 答え

＜筆算スペース＞

(各25点)

目指せ100点！

( )



＋

名まえ

・ 計算をしましょう。

7① 5 0 × 8

75

＝ 7 5 0

＝ 5 0 × 1 5

165 45
② 1 6 5 － 4 5 × 2

＝ 1 6 5 － 9 0 90

③ 3 5 ＋ 2 0 ÷ 3 0
35 210 30

＝ 7 5

7

1

＝ 4 2 42

＝ 3 5 ＋ 7

7④ 4 0 2 －
402 29

2 9 ×

203

＝ 1 9 9 199

＝ 4 0 2 － 2 0 3

⑯ 力だめし 答え

16

＜筆算スペース＞

( )

(各25点)

目指せ100点！




